1. (12) Determine whether the following integral is convergent or divergent:
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2. (10) Evaluate

f e?® cos z dx.
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3. (10) Evaluate
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4. (12) Evaluate

/ sin® z cos® z dz
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5. (12) Determine if the following series
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converges. Mention any test(s) that you might use and verify that it is applicable.
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6. (14) Find the radius of convergence and interval of convergence of
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7. (10) Find a power series representation for the following function and find its interval of
convergence:
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8. (20) For each of the following statements, fill in the blank with the letters T or F de-

pending on whether the statement is true or false. You do not need to show your work and
no partial credit will be given on this problem.

(a) The sequence {n'’e™"} is convergent.
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(b) The series » (=1)
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is conditionally convergent.
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(c) I lim, .o @, = 0, then 322 | @, is convergent.
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(d) The sequence { } is divergent.
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